Entrainement 2nde :

N°23 e 25
N2 . 26
N25 e 27
N%26 ittt 28
N%27 ettt 29
N28 ettt 30
N°29 e 31
N30 et 32
N3 e 33
N%32 s 34
N33 s 35
N34 36
N°35 e 37
N%36 ettt e 38
N3 7 s 39
N38 et 40
N30 e e 41
N0 ... i s 42
NPT e 43
NA2 e e 44
NA3 e e 45
NOB4 . 46



N°70 i 72 N°8L.iiiiiiiiiii 83 N°92.ciiiiiiii 94
N7 L i 73 N°82 ittt 84 N3 i 95
N°72 ot 74 N°83 i 85 N°94.iiiiiiii 96
N°73 75 N84 ..ottt 86 N°95. i 97
N°74 oo 76 N85 87 N9t 98
N°75 i 77 N8Bt 88 N°97 i 99
N°76 ittt 78 - 89 N8, 100
N7 7 i 79 N8B 90 N°90. it 101
N°78 e 80 N°8T et 91



]10; 4oo[
inégalité(s)

14
14

—2x—4=0
solution

(2 + x)?

F(19; 23)et D(—1; —21)
milieu

8—3 X 8—10
(89)~3

9 — (—=10) — (=7) x (—8)

V63
avhb

44 X 36

D(—7; —6)et A(5; 10)
distance




—-20<x <19 1079 x 103
intervalle (100)4
4 8
— X = 7 —(—13)—1 x (—4
= %5 (—13) (—4)
3+3x=0 V125
solution avb
(—x — 8)? 312 — 292
E(—=7; 5)etC(—-2; —5) D(2; 5)etE(1;9)

milieu distance




10<x <18
intervalle

33
44

9%+ 2 =0
solution

(7 + x)?

B(—1; —10)et D(—25; 9)
milieu

1176 x (119)~°
11-1

—10 + 9 X (+4) + (—2)

V36
avhb

122

D(6; 4)et H(—9; —9)
distance




19; 12] 107 x 107°
inégalité(s) (103)7
10
— = —15 + (+21)— (-8) x 9
50
2x+9=0 V40
solution avb
(9 + x)(9 — x) 192 — 212
G(22; —2)et B(7; —2) B(—=9; —10)et H(4; 8)

milieu distance




14; 14] (9710)=% x 99
inégalité(s) 9-7
12 6
— X = —12 + (7)) x 8 — (=20
5%z (=7) (—20)
6x—6=0 V45
solution avb
(9 + x)? 222
G(2: —Det B(17; —22) G(1; —1)et B(=7; 0)
milieu distance




10<x <17
intervalle

12 12
_X_
8 6

1—-3x=0
solution

(x + 9)?

B(—17; 21)et D(1; —18)
milieu

(107)~7 x 101
101

25 + (+2) x 3 — (=7)

V160
av'h

36 X 44

A(10; —9)et G(10; 10)
distance




8<x
intervalle

= o
X
Nl @)

—9+7x=0
solution

8+ x)(8 —x)

C(0; —17)et G(23; 20)
milieu

118 x (1178)°
117

5 x (=7) — (+23) — (—24)

V72
avhb

162

G(0; 9et A(5; 2)
distance




17 < x
intervalle

4 8
_X_
3 12

—4—-9x =0
solution

(—x — 8)*

H(-8; 12)et B(—3; —6)
milieu

96 X (910)—8
9—6

—21 — (+7) x (-1) — (—16)

V250
av'h

142 — 62

D(9; —9)etE(9; 1)
distance




| — o0; —0] 103 x 10™*
inégalité(s) (106)~6
9 1
I-I_I —1 x (—6) + (+23) + (+4)
~7+8x=0 V81
solution avb
(12 + x)(12 — x) 6 x 14
H(=3; 12)et F(24; 17) H(—4; 2)et D(2; —2)

milieu distance




n°10

x < —11
intervalle

3 5
_x_
10 3

—74+9x =0
solution

(—x — 4)?

E(—23; —20)et D(—8; —21)
milieu

10710 x (1073)~7
10—10

24 — 4 x (—8) + (—25)

V20
avhb

192

B(0; —8)et H(5; —3)
distance




n°11

[11: 14]
inégalité(s)

18 16
—_— X —_—
24 18

44+x=0
solution

(x+6)(x —6)

A(20; 4)et E(7; 8)
milieu

42 X (4_9)8
4-9

2 + 2 X (+2) = (-12)

V32
avhb

232

D@3; —6)et E(—9; —2)
distance




n°12

x < -2
intervalle

6 11
_X_
7 11

—8x+8=0
solution

(x+11)(x—11)

E(—10; 22)et A(—11; 17)
milieu

10° x 1010
(1072)°

22 + (#5) x 8 + (—19)

V144
av'h

182

G(1; 6)et F(7; 8)
distance




n°13

[20; +oof
inégalité(s)

—1+6x=0
solution

(—x + 3)?

E(3;

—25)et F(—8; 24)

milieu

127 x 1276
(1279)7°

7 %X (=8) + (+6)+ 7

V225
av'h

162

G(7; 6)et F(7; —10)
distance




n°14

[20; +oof
inégalité(s)

15 25
—_— X —_—
30 15

—44+9x =0
solution

(8 —x)?

D(16; 24)et H(24; 6)
milieu

1077 x (107%)71
104

—5 % (=2) + 20 + (+5)

V12
avhb

25% — 15°

F(=5; 4)et E(2; 9)
distance




n°15

[—14; —12] (5-1)~10 x 56
inégalité(s) 5-7
8 7
-4 — 1x9 4+ (—-19) - (—19
7720 (-19) - (-19)
—8x+4=0 V27
solution avb
(x+12)(x —12) 42 x 38
G(—11: 24)et B(13; —17) D(=7; —2)et C(6; 10)
milieu distance




n°le6

10 < x
intervalle

5 3

2 18

349x =0
solution

(x+4)(x—4)

B(—6; —11)et H(5; —16)
milieu

(123)3 x 1274
125

16 + 2 — (=5) x (-1)

V27
avhb

25% — 15°

H(2; —1)etD(2; —6)
distance




n°17

—6<x<16
intervalle

| o
X
N w

3x—5=0
solution

(x —3)?

D(—23; —16)et A(—2; 3)
milieu

(103)~° x 103
107

10 + (-10) x (+8) — 8

V27
avhb

8x12

D(0; 10)et H(7; —7)
distance




n°18

-1<x<10 1072 x 10°
intervalle (10-5)5
16 3
— X — 6 — 3 X (—8)+ (—4
5 %50 (—8)+ (—4)
6x—8=10 V18
solution av'b
(x + 10)(x — 10) 552 — 452
C(9; 10)et G(22; 20) H(1; —=5)et D(-9; —4)
milieu distance




n°19

—l6<x<6 10° x (101)2
intervalle 10-3
77
— = —10 X (1) — (—16) + 20
- (-1) — (-16)
2x +3 =0 V54
solution avb
(7 +x)(7 —x) 212
D(1; 5)et A(1: —5) B(8: —4)et C(—4; 6)

milieu distance




n°20

[8; +oof
inégalité(s)

4+10
3 6

3—5x=0
solution

(8 + x)?

C(5; 14)et D(1; 6)
milieu

100 x (102)°
10-8

20 + (=2) x (—=4) + 20

V160
av'h

182

D(—10; —9)et E(9; 3)
distance




n°21

2<x<16
intervalle

48
36

—6+4x =0
solution

(2 + x)?

D(—6; 20)et C(—2; 14)
milieu

123 x (1275)7°
120

16 + 19 — 5 x (=3)

V45
avh

29% — 317

G(8; —9)et E(—8; 0)
distance




n°22

11<x<14
intervalle

3 9

3 24

24+3x=0
solution

(x —11)?

B(17; 3)et G(—13; —15)
milieu

10! x (1075)2
10-6

23 — (D + (+2) x (—1)

V18
avhb

44 X 36

C(10; —5)et G(—10; —-5)
distance




n°23

6 <x<20 10710 x (1073)"8
intervalle 109
9 10
———— 24 — (=7)— (+6) x (—10
T (=7) = (+6) x (-10)
4x+8=0 V64
solution avb
(6 + x)? 12x 8
B(12; —15)et A(—17; 14) G(7; —6)et B(6; —2)

milieu distance




n°24

125; +oo[
inégalité(s)

7 2

9 18

8x—3=0
solution

(x + 3)?

E(—=7; 17)et C(—6; 18)
milieu

(10~1)5 x 1072
101

8 —(+1)— (-8)x 8

V96
avhb

29 x 31

A(7; 8)etD(2; 4)
distance




n°25

17 ; 18]
inégalité(s)

9><11
5 10

5—x=0
solution

(7 —x)?

C(—18; 14)et A(—23; —15)
milieu

24 X (2—10)8
2—5

—12 — 8 — 10 x (—8)

V100
av'h

282

D(8; 3)et F(6; 2)
distance




n°26

[—15: 16]
inégalité(s)

4 6
_X_
4 10

2x+8=0
solution

(x+9)(x—9)

A(—17; —16)et F(20; 21)
milieu

(10~4)! x 102
109

10 x 5 + (+13)+ 5

V64
avhb

52 X 48

A3; =2)etG(-7; =2)
distance




n°27

[—20; —12]
inégalité(s)

10><5
5 2

—10+5x =0
solution

(1—-x)°

E(—-21; —6)et H(—3; —4)
milieu

1075 x 1071
(109)7°

2 + (—4) x (—-8) + (-25)

V175
av'h

21%

E(5; 3)et F(8; —5)
distance




n°28

—1<x<5
intervalle

10 3
5

1

7x—5=0
solution

(8 + x)?

A(-22;

milieu

14)et H(—24; —22)

376 x 378
(3—10)—5

20 + 19 + (+3) X 9

V36
avhb

132

E(1; —=9)et A(2; =5)

distance




n°29

11<x
intervalle

50
10

—4x +8=0
solution

(7 4+ x)(7 — x)

D(=5; —1)et G(—8; —22)
milieu

1173 x (118)75
114

—15 — (=14) + (=9) x (=4

V75
avh

35% — 452

G(9; 5etD(-5; —5)
distance




n°30

—18<x 5—4 w 55
intervalle (5-1)3
1> 12 + 8 X (+0) + (—14)
10 40
—7 —4x =0 V20
solution avb
(11 + x)(11 — x) 13 X 7
A(—=25; 5)et B(—8; —10) E(4; —1)et B(3; —3)

milieu distance




n°31

] —o0; —8]
inégalité(s)

8x+4=0
solution

(—x — 2)*

B(—16; 21)et D(22; —10)
milieu

10%° x 107°
(1072)*

15 — 17 — 0 x (+5)

V45
avh

132

G(—9; =7)et D(0; 9)
distance




n°32

—3<x
intervalle

5 8

6 24

10x —6=0
solution

(7 4+ x)(7 — x)

G(—11; 2)et H(—17; —12)
milieu

(10%)76 x 1079
107

—15 — (=17)— 0 X 4

V150
av'h

252

D(=5; —8)et A(—4; —1)
distance




n°33

[14: 17]
inégalité(s)

2+6
3 9

8x+7=0
solution

(x+4)(x—4)

B(—23; 12)et D(12; 4)
milieu

(28)2 X 25
2-6

-1 + (+#10) x (—6) + (—11)

V36
avhb

192

E(—9; —7)et A(—6; —2)
distance




n°34

17 < x <19
intervalle

vl w
X
O | U1

—1+4x =0
solution

(x + 3)?

G(14; —20)et B(21; —4)

milieu

103 x (103)71
10—10

6 x9 + 11 — (+18)

V16
avhb

112 — 92

E(—4; —2)et H(—1; —8)
distance




n°35

—9<x< -8
intervalle

27
24

6+7x=0
solution

(x — 6)°

H(—-13; —14)et E(2; —17)
milieu

101% x 1077
(10-3)-10

10 + (=10) + (=7) x (=7)

V12
avhb

152

C(3; 8)et F(—10; 5)
distance




n°36

18 < x
intervalle

27
18

2x+3=0
solution

(8+ x)(8 —x)

E(—22; —23)et F(24; 18)
milieu

105 x 107°
(10-8)~8

4 x1 + (=9)+ (-5

V48
avhb

202

C(5; —10)et H(6; —6)
distance




n°37

16 < x
intervalle

55
55

94+8x =0
solution

(x — 4)?

F(0; —22)et C(15; 23)
milieu

107 x 10°
(1074)7

16 + (=5) + (—6) x (—8)

V36
avhb

192

F(8; 5et A(3; —3)
distance




n°38

—15<x <2
intervalle

25 6

24 5

—10+3x=0
solution

(x — 4)?

D(18; 16)et A(25; 18)
milieu

107 x 108
(107%)=°

—7 =25+ 1 x (-1

V8
avhb

132

A(—8; =5)et B(—2; 7)
distance




n°39

x <2
intervalle

4 6
_X_
3 12

10+4x =0
solution

(x + 12)2

E3; 13)et D(—11; —2)
milieu

97 x 92
(979)2

13 + 24 + (—8) x (+2)

V64
avhb

112 — 92

G(—8; 4)et C(-3; —1)
distance




n°40

2<x<3
intervalle

36 12
_X_
4 6

—5+x=0
solution

(x + 3)?

C(—16; —23)et G(—4; —4)
milieu

108 x (1010)8
102

5 + 14 + (=4) x (=1)

V24
avhb

172 — 232

F(9; —8)etD(—1; —1)
distance




n°41

—-1<x<14
intervalle

94+4x =0
solution

(x+6)(x —6)

D(—6; —20)et E(9; 19)
milieu

4% % 47
(48)—10

5 x (+6) + (—=10) — 24

V75
avh

242

C(5; —1)etH(—6; —6)
distance




n°42

]10; 4oo[ 1078 x (1010)~10
inégalité(s) 10-8
14
= 21 + (-20)+ (-5) x 2
63
—8x—2=0 V50
solution avb
(x+1Dx-1) 35 x 25
E(—=16; —24)et A(—17; 16) D(8; 3)et B(1; —3)

milieu distance




n°43

| —o0; —10]
inégalité(s)

—9+x=0
solution

(6 —x)?

F(16; —14)et G(—11; —16)
milieu

1078 x 103
(1077)7

14 + (-1) x (=3) = 0

V100
av'h

47 X 53

H(3; et D(10; 9)
distance




n°44

[—16; 17]
inégalité(s)

7+7
6 54

—7x+2=0
solution

(8 —x)?

A(—=16; —1Det F(—4; —21)
milieu

107% x 10°
(10—10)10

-3 - (+20) - (-4 x 4

V54
avh

26~

F(—8; —1)et B(—5; —8)
distance




n°45

2<x<15
intervalle

7 5
_X_
8 12

—5x+1=0
solution

(x —2)°

E(18; —18)et D(10; —10)
milieu

10° x 107°
(10%)~°

—5 x (+1) + 21 — (=20)

V225
av'h

15 X 25

C(—8; —1)et G(4; 3)
distance




n°46

x < 14
intervalle

2x+3=0
solution

(1 + x)?

H(22; 15)et D(—20; —1)

milieu

10% x (1010)8
10°

12 — (=2) X (+8) — (—23)

V96
avhb

192

E(2; et A(5; —4)
distance




n°47

—5<x<-3 10~%* x 10°
intervalle (10-6)-8
72
5 = 8 —0x2+ (+1)
—3-5x=0 V32
solution avb
(—x + 5)2 282
E(15; —20)et H(18; —4) A(—8; —4)et E(—10; —7)

milieu distance




n°48

23 < x
intervalle

—7x+9=0
solution

(x +5)(x —5)

G(11; —10)et F(17; —6)

milieu

(3—1)10 X 3—3
31

~3 X (+7) — (+4) = (+3)

V81
avhb

202

A9; 7et H(—6; —2)
distance




n°49

2<x<?2
intervalle

28
36

2x—10=0
solution

(9 —x)?

H(—20; 12)et D(—22; —24)
milieu

108 x 10°
(1010)0

-2 + (+13) + (+2) x (+8)

V36
avhb

282

F(5; —8)et H(—5; 1)
distance




n°50

11 < x 1077 x 10t
intervalle (100)-7
40
— = -3 x (1) + (+7) + (—8)
25
x+5=0 V250
solution avb
2+x)(2—x) 22 x 18
B(—12; —14)et E(16; 13) D(=5; —8)et F(—10; —8)
milieu distance




n°51

—8<x<17 (105)~6 x 10°
intervalle 106
77
L 6+ (-1)+ 6 x 10
44
6x+9 =0 V200
solution avb
(x+9)(x —9) 192
A(6; 22)et C(—12; —9) D(0; 9et A(6; —1)

milieu distance




n°52

[—11; 14]
inégalité(s)

3x+2=0
solution

(8 —x)?

A(—4; et D(—6; 6)
milieu

61 X (6—4)—5
66

—18+ 1 -5 x (+8)

V175
av'h

24% — 167

E(—2; —9et D(-5; 3)
distance




n°53

119; +oo[ (10719)°> x 107>
inégalité(s) 10-3
36 20
2T 8 X (—8) — (+5) — (+6
7 X3¢ (—8) — (+5) — (+6)
1—-x=0 V160
solution avb
8+ x)(8—x) 35 x 25
A(18; —17)et G(13; —6) D(5; =2)et H(—9; —4)
milieu distance




n°54

X
intervalle

40
64

—1+4x =0
solution

(x —2)°

B(—9; 4)et H(—12; 2)
milieu

10! x (10%)~8
10—10

0+ 19 — (+3) x 1

V250
av'h

25 x 35

C(10; 7)et D(0; —3)
distance




n°55

[18; +oo[
inégalité(s)

64
64

x+1=0
solution

(x+2)(x—2)

D(—24; —5)et G(18; 9)
milieu

(35)—9 X 3—3
35

21 + (+22)+ 7 x (+9)

V150
av'h

232

C(—1; 10)et E(1; 9)
distance




n°56

]—15; —2] 779 % 70
inégalité(s) (71)-6
20
— = —6 + (—12) + (+0) x (-6)
16
—8x—5=0 V72
solution avb
(x+7)(x—7) 23 x 17
H(=5; —20)et D(13; 5) F(—8; 10)et D(2; —6)

milieu distance




n°57

[—8; 0]
inégalité(s)

—8x+9=0
solution

(9 —x)?

B(11; 5)et D(23; —10)
milieu

73 X (7—6)0
72

10 x (+49) — (-7)— 8

V50
avh

92 — 112

E(8; —1)et F(9; —7)
distance




n°58

[—18; —3] 118 x (11°)°
inégalité(s) 11-3
20 36
St —6 X (=5) — (—-16) + (+15
5 %5 (=5) — (=16) + (+15)
x—3=0 V112
solution av'b
(—x — 2)? 452 — 352
G(1; 23)et D(20; —12) C(—1; —8)et F(—8; 2)
milieu distance




n°59

14; 4+oo[
inégalité(s)

12 9
_X_
3 10

—6—7x=0
solution

(11 + x)?

F(—=16; —7)et B(—1; 14)
milieu

475 x 49
(410)—10

—18 + (—13) — (—6) X (+3)

V12
avhb

152

E(—1; 3)etD(0; —10)
distance




n°60

22 < x
intervalle

27
36

—7x+1=0
solution

(6+x)(6—x)

B(14; 2)et G(0; 9)
milieu

(1010)5 x 103
106

—15 + (-5)— 4 x (-2)

V50
avh

25 x 35

H(=5; 2)etC(-=7; 1)
distance




n°61

117 ; +oo[ (10-7)* x 1073
inégalité(s) 105
9 8
____ 0 —(—2)x (+#1) — (-3
272 (=2)x (+1) = (-3)
7+ 10x =0 v128
solution avb
(x+7)(x—=7) 222
A(=12; 23)et B(5; —1) B(6; —9)et A(8; 8)
milieu distance




n°62

[23; +oo[
inégalité(s)

N

3
1

—10x—9=0
solution

(11 + x)?

G(8; —16)et C(21; —24)
milieu

10! x (102)4
100

—19 + 20 — 0 X (+8)

V90
avhb

27 X 33

D(7; 6)et H(8; 7)
distance




n°63

-7 11] (10~1)8 x 10~°
inégalité(s) 10—4
18
— = -7 X (-1) — (+9) — (—10)
72
9+x=0 V96
solution avb
(2 +x)* 24 x 16
D(=20; —23)et A(14; —3) D(=3; 9et G(=3; 4)

milieu distance




n°64

[10: 11]
inégalité(s)

36
24

—7+x=0
solution

(x + 8)(x — 8)

H(-21; 0)et B(22; 21)
milieu

38 x 3710
(3—10)10

-7 -5+ (-5)%x 3

V200
av'h

48 x 52

E(0; DetG(-8; 4)
distance




n°65

x < 20
intervalle

O
X
| W

x+3=0
solution

(5 + x)?

E(—9; —16)et F(11; —3)

milieu

(979)78 x9°
9—9

—15 — 7 + (—10) x 4

V18
avhb

122

A9; —2)etG(—2; —1)
distance




n°66

22 < x
intervalle

—74+9x =0
solution

(—x — 2)*

C(14; —16)et D(25; —6)

milieu

6—7 X (62)—2
65

3 X (=3) —4 - (+4)

V200
av'h

442 — 36~

H(O; —3)et A(—4; —7)
distance




n°67

118; +oo[
inégalité(s)

12 24
—_— X —_—
30 8

9—-7x=0
solution

(11 + x)(11 — x)

C(—3; 12)et E(—18; —2)
milieu

(779)7 x 71
7—4

=2 x (-4 = (D - (-8)

V200
av'h

22 %X 18

D(6; 0O)et H(—7; —4)
distance




n°68

[—10; +oof
inégalité(s)

7 10

8 48

7x+10=0
solution

(—x + 7)?

C(1; 25)et A(—4; —10)
milieu

1010 x 1072
(10-10)-5

~9 — (+20) - (=7) x (-2)

V45
avh

5% — 152

A(9; —8)et C(—1; 7)
distance




n°69

—-18<x <3 (8%)> x 8%
intervalle g-2
1 4
4 21 + (—11)+ 8 x 10
-+ 17 (—-11)
x+1=0 V48
solution avb
(x + 6)? 112 — 92
D(—17; 0)et A(-3; —2) B(3; 8)et G(8; 9)
milieu distance




n°70

[—14; +oo]
inégalité(s)

72
18

3—3x=0
solution

(x+4)(x—4)

B(4; 6)et C(—9; —23)
milieu

(3—5)4 X 38
3-6

—21 + (+18) + 3 X (=5)

V54
avh

44 X 36

A(—=10; —1Det C(—8; —=7)
distance




n°71

[23; +oo[
inégalité(s)

4x —3 =0
solution

(x+11)(x—11)

E(1; 6)et H(—5; —25)
milieu

(1073)8 x 10%
106

17 — (+0) X 6 + 17

V72
avhb

422 — 382

D(1; 2)et G(—1; —5)
distance




n°72

16 <x <19
intervalle

7 2
_X_
12 9

—10+4x =0
solution

8+ x)(8 —x)

A(—=15; —18)et D(—19; 11)
milieu

1075 x (10%)~°
1010

12 + (—10) x (—6) + (—14)

V175
av'h

13 X7

A(1; 7)et B(—9; —10)
distance




n°73

]—19; 0]
inégalité(s)

12 7
_X_
11 6

—10—-5x=0
solution

(4 —x)?

F(19; —18)et C(18; 13)
milieu

(35)—8 X 3—9
39

11 — 2 + (-5) % 2

V28
avhb

7% — 132

A(—8; —10)et F(—2; —=7)
distance




n°74

| —o0; 6] (57%)3 x 52
inégalité(s) 5-1
7 7
— X = —-11 + (—8) X (—4) — 14
3% 3 (—8) x (—4)
7x—3=0 V80
solution avb
(x + 7)2 112
B(13; 11)et A(=11; —=7) D(9; —6)et C(=8; 4)

milieu distance




n°75

9<x<15
intervalle

1+4
3 18

2x—2=0
solution

(x 4+ 3)(x —3)

C(—12; 3)et E(20; 22)
milieu

1178 x 117
(114)7°

-2 — (+4) x (-1) + (—25)

V50
avh

177

H(1; —4)et D(—10; —5)
distance




n°76

19 <x <20 (107°)8 x 107
intervalle 104
2 10
- X — 14 — (1) X (—9)— 7
- X3 (-1 x (-9)
9% —10=0 V72
solution avb
(x+12)(x —12) 412% — 392
D(—11; 14)et F(—6; 22) F(9; 9etD(—1; —9)
milieu distance




n°77

[13; +oo] 3-4 x (310)8

inégalité(s) 3-5
2 8
Z = 7+ (—4)x (-3)+ 18
2 2

5—9x =0 V27

solution avb

(x +10)(x — 10) 6% — 142
G(—17: —14)et A(7; —=2) A(4; 10)et E(1; 9)

milieu distance




n°78

4 < x
intervalle

9 5

7 14

2x+6=0
solution

(9 —x)?

G(9; 2)et D(23; —14)
milieu

(108)73 x 10~*
108

-1 -5+ 8 x (4+0)

V63
avhb

177

E(6; —9)et A(—1; 0)
distance




n°79

1=9; 9]
inégalité(s)

8 3

9 18

—6—x=0
solution

(x+6)(x —6)

E(20; —3)et F(—8; 24)
milieu

1077 x (1077)3
107

—5 - (-2)x (+3) + (—14)

V32
avhb

302

G(—=3; —1etD(3; —2)
distance




n°80

—17<x < -2 10> x 107°
intervalle (105)-1
1 2
i 0+ 9 x (—8)+ (—22)
1 8
2x+10=0 V150
solution avb
(—x — 4)? 11X 9
C(—18; 19)et A(-2; 21) C(—4; —1)et H(9; 8)

milieu distance




n°81

[23; +oo[
inégalité(s)

4 3

9 54

—10x+9=0
solution

(x + 8)(x — 8)

E(0; 9et A(23; 3)
milieu

10—10 X (101)—10
10-°

—14 — 3 — (=2) X (=6)

V125
av'h

48 x 52

F(7; —=3)et D(-8; 6)
distance




n°82

25<x (1073)72 x 101°
intervalle 10-9
>0 —4 X (=4) = (+1) = (+18)
3 12
9x —6 =0 V45
solution avb
(10 + x)? 22°
H(21; —2)et B(14; 16) C(3; 5)et A(5; —3)
milieu distance




n°83

—17<x< -4
intervalle

2><11
5 9

—10x—3 =0
solution

(8+ x)(8 —x)

B(—10; 14)et H(16; —21)
milieu

(1019)6 x 107°
1010

—9 — 10 x (+5)— 17

V150
av'h

49 x 51

G(—10; 0)et E(2; 7)
distance




n°84

1—7; 19]
inégalité(s)

1+8
6 18

9% —4 =0
solution

(5+4+x)(5—x)

B(—16; 8)et G(—9; 5)
milieu

(45)1 X 42
4-1

7 — (+3)+ (+9) x (-3)

V175
av'h

19 x 21

H(—9; 3)et E(—9; 8)
distance




n°85

116 ; +oo[
inégalité(s)

2 5

7 14

4+2x=0
solution

(10 — x)?

H(19; 11)et G(—14; —12)
milieu

(4—10)—7 X 4—10
4_—7

4 — (+7) X (+9) — (+8)

V200
av'h

112

F(7; 5et D(—4; —10)
distance




n°86

—14 <x <19
intervalle

8+5
2 12

6—6x=0
solution

(x + 5)?

D(6; 6)et A(—1; 0)
milieu

102 x 10°
(10-10)1

—5 + (=8) x (+3) — 10

V28
avhb

53% — 474

E(—8; —9)et B(—1; 2)
distance




n°87

[—12; —11]
inégalité(s)

AN e!
X
ec) S

x+1=0
solution

(—x + 1)?

B(—17; —20)et C(20; —15)
milieu

10* x 1071
(10%)~1

—18 — (+25)+ (-5) x (+8)

V18
avhb

242

A(=9; —2)et H(1; 0)
distance




n°88

[10; +oof
inégalité(s)

16
32

—34+9% =0
solution

(x+2)(x—2)

B(11; —24)et F(16; 25)
milieu

1078 x 1072
(10—10)10

8 X (=3) — (=19) - (—-17)

V225
av'h

142 — 62

F(1; )etC(—3; —3)
distance




n°89

[-9; 12]
inégalité(s)

21
63

—-8+x=0
solution

(x+5)(x—5)

D(7; 2)et B(10; 17)
milieu

(42)77 x 472
4_—3

-2+ (+9) x (=9) + (+5)

V81
avhb

26~

H(5; 1)etD(—8; 3)
distance




n°90

16; +oof 1074 x 10*%
inégalité(s) (108)-1
15 20
RS —8 X (+#8) — (—23) — (—17
TR (+8) — (—=23) — (—17)
10—10x =0 V112
solution avb
(—x — 9)? 252
F(=23; —19)et A(-8; —21) E(—4; —10)et H(—4; 0)
milieu distance




n°91

112; +oo[
inégalité(s)

42
42

4x —9 =0
solution

(—x + 3)?

F(25; 16)et H(25; 14)
milieu

(107)8 x 10~8
10-3

12 + (—1) x (+8) + (—22)

V160
av'h

54% — 467

B(—=7; 10)et G(—9; 10)
distance




n°92

—-14 <x <20 (91)710 x 979
intervalle 91
4 3
4 -17 + (-9) x (7)) — (-8
T (-9) x (=7) — (=8)
1+x=0 V128
solution avb
(x — 10)? 132
A(—14; —25)et E(23; 2) G(2; 10)et F(—10; 7)
milieu distance




n°93

24 < x
intervalle

2 20
—_— X —_—
16 12

—7x—3 =0
solution

(12 + x)(12 — x)

E(15; —4)et D(3; 9)
milieu

83 x 874
(872)1

19 — 3 + (—10) X (—6)

V150
av'h

53% — 474

E(-7; —4)et D(—9; —4)
distance




n°94

[1: 18]
inégalité(s)

33
66

8+x=0
solution

(6 + x)?

D(—25; —4)et B(—2; —3)
milieu

1010 x (10%)*
10-6

7 X (+7) — (=2)— 21

V90
avhb

302

G(8; —4)et C(9; 6)
distance




n°95

—-16<x<0 (376)8 x 377
intervalle 33
3
== —10 X (+4) — (-21) + (+14)
—6x—1=0 V225
solution avb
(x+1D(x—-1) 252
E(20; 16)et G(—3; —5) D(4; 2)et H(—3; 10)

milieu distance




n°96

4 <x<11
intervalle

oc] o)
X
Wl w

4+8x=0
solution

(x — 6)°

B(—10; et E(—13; 7)
milieu

20 x 24

(2—9)7

—8x6 —(-9)—-2

V175
av'h

35 X 45

G(—1; 6)et C(—2; 6)
distance




n°97

25 < x (107°)2 x 10°
intervalle 10-8
20
= = 7+ (—20)+ (+7) X 6
1-9x=0 V16
solution avb
(6+x)(6—x) 142
F(10; —22)et C(12; —7) G(1; 9et C(—6; —8)
milieu distance




n°98

[13; +oof
inégalité(s)

12
16

—5x+6=0
solution

(3 —x)?

D(—15; 3)et C(—23; 20)
milieu

1210 x (1277)°
12-6

5+ (+6) X (+6) + (-5)

V128
av'h

222

A(4; —3)et H(10; 2)
distance




n°99

—18<x < -5
intervalle

8 11
_X_
9 3

2x+7 =0
solution

(x = 7)?

F(16; 0)et H(—7; —18)
milieu

3—10 X (31)10
3—9

20 — (=2) x (=3) — (—10)

V36
avhb

15% — 52

D(10; —3)et C(—1; 4)
distance




